ﬁ i"ﬂ. Phép cong 1én dén 100 (hang ngang)

Tén:_ Ngaythang:_ Piém:__
24+ 92 = T1+7=
95 +53 = 91 +37=
24+ 19 = 99 +77 =
51 +68= 18 +37 =
79+22 = 29+ 65 =
5+30= 43 + 96 =
59+35= 11 +45=
8+29 = 24+ 70 =
80 +42 = 78 +21 =
28 +79 = 14+ 51 =
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Sﬁ) i"ﬂ. Phép cong 1én dén 100 (hang ngang)

Tén:__ Ngaythang: _ Piém:____
24+ 92 =116 71+7="18
95 +53 = 148 91 +37 =128
24+19 =43 9 +77 =176
51+68 =119 18 +37 =55
79 +22 =101 29+65=94
5+30=235 43 +96 = 139
59+35=94 11 +45=56
8+29 =37 24+70=94
80 +42 = 122 78 +21 =199
28+79 =107 14+ 51 =65
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